	
	ALGEBRA 2    UNIT 7




Name:____________________________

Study Team Test





Date: _________________Period:______

Show all your work and reasoning.  Use a pencil and highlight your answers.

	
	1.  Sketch a graph of the given functions.  Label all intercepts.

	
	a)  
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	b)  
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	2.  Determine the equation that generates each graph below.

	
	a)
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	c) 

	
	3.  Write the following in standard form, then graph the equation.  
	4)  4.  Write the standard (expanded) form equation of a 5th polynomial 
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	a)  
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	5)  Given 
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, use long division to find 
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	6)  Find all zeros of 
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by listing all possible rational zeros.  Sketch a graph.



	
	7.  Solve for all solutions of x.

	
	a)  
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	d)  
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	g)  
[image: image19.wmf]0

48

16

3

2

3

=

-

+

-

x

x

x



	h)  
[image: image20.wmf]2loglog3log25

x

-=


	i)  
[image: image21.wmf](

)

(

)

2

5

log

3

log

3

3

=

-

+

+

x

x



	
	8.  Simplify.  Write answers in 
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	a)  
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	9.  Simplify.

	
	a)  
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